
For comments, corrections, etc…Please contact Ahnaf Abbas: ahnaf@mathyards.com 
 

 
International Institute for     
Technology and Management         

                                       

                   Tutoring Sheet # 1b                       
 
 Unit 04b       :         Statistics 2 
 

 
vi. For two independent events A and B  such that Pr(A) > 0 and Pr(B) > 0 , 
     Pr(A B)  < Pr(A) + Pr(B)  ∪
v.  If two events A and B are mutually exclusive then Pr (Ac ∩   Bc) = 1 – Pr(A) – Pr(B)  

 

 
 

3. Two fair dice are thrown. If their  total is not 2  or 12 , they are thrown once more. What is the  
probability  that the final outcome  is even. 

 
      4. On his way to work Mr D buys newspaper A with probability 0.4, newspaper 
          B with probability 0.3, or no newspaper with probability 0.3. If he buys 
         newspaper A he brings it home in the evening with probability 0.4 and if he 
         buys newspaper B he brings it home with probability 0.6. His behaviour on a 
         particular day is independent of his behaviour on any other day. 
 
          i. He did not bring a newspaper home yesterday. What is the probability 
              that he did not buy one? 
         ii. Given that he brought a newspaper home for the last two days, what is 
              the probability it was the same newspaper on both days? 
         iii. What is the expected value of the number of newspapers he is going to 
               bring home during the next 10 days? What is its variance?   
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5. A football team has three goalkeepers A, B and C. When A plays in a match the team 
    does not concede a goal with probability 0.5. The same probability for B is 0.4 and for C 
    0.3. If the team does not concede a goal, the same goalkeeper is used for the next match. 
    If the team does concede a goal, the probability that A plays in the next match is 0.5, 
    the probability that B plays is 0.3 and the probability that C plays is 0.2. During the last 
    match the team conceded a goal. 
 

i. What is the probability that A will play for the next two matches?              
ii. Given the same goalkeeper played for the last two matches, what is the probability that no 

goal was conceded in the first of those matches? 
 
6. i. State and prove Bayes’ theorem.    

 
7. 

 
8. 

 
 one student choose a red ball if both students write down ‘green’. 
 
9.  

 
 
 
 


